B5S # = SR VIS HiE = # = PRI — MR/ &
1 [EhdiRAom 372 14K BEIE6-0 0.0877|[ 26 &) IRAIN 457 - 10 14AREEE1-0 0.0031
2 &) RN 404 14ARBEIZ16-0 0.2726 || 27 |Z&)1I TRz 465 - 1 14K FE~4-0 0.0193
3 |&)ITRZKN 405 14ARBEIE13-0 0.1027|[ 28 &) IRAN 466 14 FE~4-0 0.0061
4 B TR AN 406 14AREEIE12-0 0.2219 || 29 |Z&)1I TRz 467 - 1 14RFE~1-0 0.0237
5 &R 407 - 144K BEIE13-0 0.4913|[ 30 &) IRAMN 468 - 1 14RFE~2-0 0.0448
6 |51 RN 407 - 14ARBEIE13-0 0.0176|[ 31 |ZJHTHIRAMN 468 - 2 14RFE~2-0 0.0056
7 1EITRZKRN 408 14ARBEIE13-0 0.0402|[ 32 &)1 IRAMN 498 - 1 14 FE~6-0 0.6114
8 &)1 409 - 1 14ARBEIE14-0 0.0945|[ 33 &) IRAN 734 14RBEH3-0 0.1945
9 &I RN 411 - 2 L4AR BRI 241 0.0036|[ 34 &) IRAMN 735 - 1 14HRFEH3-0 0.1206
10 |Zg)1 T RzKn 411 - 5 L4AR BRI 241 0.0195|[ 35 &) IRAN 744 - 1 144REEV2-0 3.4087
11 |&)IT RN 416 - 1 144K BEIZ18-0 0.2023|[ 36 &) IRAN 744 - 10 14REEDH1-0 0.0166
12 |51 TRz 422 - 2 14K BEIE20-0 0.1258|[ 37 &)1 IRAN 766 - 1 14K BEE21-0 1.5656
13 |&)1T RN 425 - 2 14K BEIZ20-0 0.0047|[ 38 &) IRAN 767 14REEDH1-0 0.7549
14 |51 TRz 428 L4ARBEIF22 0.2000([ 39 &) IRAN 769 144K FEH1-0 0.0182
15 |&g)1TRzkn 429 - 2 | 14#R¥EIZ23-0, 23-1 0.7475|[ 40 &) THIRAN 770 14REEDH1-0 0.0651
16 |51 RzKn 435 L4AR BRI 241 1.5134( 41 |81 773 14K BEE21-0 0.0129
17 |51 TRz 437 14K BEIE24-0 0.0271|[ 42 &)1 IRAMN 776 - 1 14K EEH2-0 0.2579
18 &)1 RAKN 440 L4AREEIE25-0 0.4274| 43 &)1 IRAN 777 14AREEH1-0 0.3027
19 |51 RN 441 14K BEIE26-0 0.117| 44 |4 IRZKIN 778 - 1 14 E1-0, 2-0 0.6244
20 |2 T IRoKRAN 442 L4AREEIZ27-0 0.0418|[ 45 &) IRAMN 781 - 1 14K EE6-0 0.4205
21 |2 gRoKRn 445 144K EEIZ28-0, 29-0 0.8715|[ 46 &) IRAN 783 - 1 14K BEH5-0 0.4343
22 %) T IRoKRN 448 14K BEIE30-0 0.2230|[ 47 &)1 IRAMN 784 - 1 14K EED1-0 1.0199
23 |2 T IRoKR N 454 - 5 L4AREE~T-0 0.0278|[ 48 &) IRAN 784 - 4 14AREEL1-0 0.0004
24 |51 TIRZK N 457 = 1 [14MEE~1-0,1-2, 7-0, 1.2982( 49 &)1 IRAN 789 - 9 144K BE5H2-0 0.0857
25 |2 T IRoKRN 457 - 6 L4MRIE~1-0 1.1925(( 50 |&g) T RAN 846 - 9 14ARBEAL1-0 0.0269
7t 18.41541




